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A picture showing comparison among the skulls of human, crampoutang snd macague monkey.
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Chromatin, chromosome, chromatid
Where is the difference?






It chromatin is a train, then the chromosomes are like
compartments



* Scientist Strasburger discovered it in 1875 }\V

* If the cell has two sets of chromosomes, it is
6\\%\8\

and If there is one set of chromosomes, it
is called haploid

* The chromosome is called the physiology of

heredity












* DNA consists of many nucleotide units

* Nucleotides consist of three things
1. Sugars with five carbons
2. Nitrogenous base
3. Inorganic phosphate

* Nitrogenous base
Purine (adenine, guanine)
Pyrimidine (cytosine, thymine)

* Watson & Crick described the formation of the double helix
in 1953









* Adenine in one thread binds to thiamine in another thread in
two hydrogen bonds /f =T

* Guanine in one source binds to cytosine in another source in
three hydrogen bonds G =0

* Each rotation of the helix is 34 A long and contains ten
nucleotides in one full rotatiom—

*  So the distance between the two adjacent nucleotides is 3.4 A



What is the angular distance between two adjacent nucleotide

basepair?
(a) 72° (c) 24° (d) 48°
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If there are 26 hydrogen bonds in a DNA twist, how many cytosine are in that twist? H-6
e

Suppose,the number of cytosine in that twis @ So, the number of guanine is 026

14 2
Therefore, the number of hydrogen bonds in tha C —;Q -AL

e ——

If the number of cytosine is X, So the number of adenine is 10-X 077103;2

L’T\
Therefore, the number of thymine is 10-X ') — S

So, the number of hydrogen bonds in that i —
o2

So, the total number of hydrogen bonds in the twist is 3X+2(10-X) S
— T— ~—
According to the question,/ 3X+2(10-X) = 26 T
Or, X+20=26 (0 =X

Or, gx =6vw -
The number of cytosine in the twist is 6



* Structura&material
1. Ribose sugars with five carbons
2. Nitrogen base

Adenine
\QO Guanine
. Cytosine
Elrasid

3. Phosphate
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Which one Is correct? \

(a) A =G (D)C=T (/(Z)éA ()G=T



* The pieces of DNA from which RNA is made are called genes
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DNA —» RNA - Protein — Characteristics (_’en?’mﬂ
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* The location of the gene on the chromosome is called locus
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* Prior to DNA replication, the hydrogen bonds in the DNA break
and loosen ~ DY Sep 1

* From the nucleotides floating inside the cell, adenine is added to
thymine, thymine is added to the adenine site, guanine and
guanine cytosine are formed by the two enemies to make new

<—old
complementary formulas GACLLAG
f %’ETG\AATQ{\J\/QW
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* Replication in this way is calledw method







* One of the most scientifically based methods of DNA testing

is called DNA fingerprinting”

v “ . v .
* Organic specimens are collected from the bones, teeth, hair,

blood, saliva, semen or tissues of the person.

=TT - PNA

* Biological samples collected from crime stalls or victims of crime
DNA design is the DNA of blood or biological samples taken from
a suspect is compared with the design
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Which is not a biological sample?/ =
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* In this method, chemical DNA is first separated from the sample and
multiple restrictgghenzymes are cut into small pieces.

*  DNA fragments are then separated into different shapes according to their
length using electrophoresis usingw or polyacrylamide gel
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* Visible bandssa@@®@s are autographed on special@@
paper with hybridized radioactive isotope DNA probe placed on X-

ray film and identified by identification and comparison of
suspected samples with Mamun obtained from crime scene.
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* This method requires a_small sample and can be done accuratel
- - polymerase (dTTP, dCTP, dATP, dGTP) @_‘P ’i((',\"]‘(/\
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Thank You



